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¢. W &M FTH- Self-reliance means depending on one’s own life. It is a great virtue. Self help is the best og
help. So, everybody must rely on his own abilities to be self-reliant. A self-reliant man has confidence in his
own abilities. He takes heart in the face of difficults.

ENGLISH
Subject Code: 102  Marks: S0
1. Write an essay on any one of the following using the hints given below: 15
uﬁ) Healthy Living

[Hints: Introduction— What is healthy living— Importance of healthy lifestyle — Elements of healthy

living: balance diet, physical exercise, sufficient sleep, avoiding harmful habits, stress management,

recreation etc.—Conclusion]

b) Songs | Enjoy Listening to

[Hints: Introduction —Your most favourite type of songs— Why you like it-Your favourite singers —

How aoften you listen to music —The influence music has on you-Conclusion] www.prebd.com
Z. AWrite a letter to your Younger brother telling him about the importance of practicing good manners. 10

Or

You find that one of the four ceiling fans which you purchased recently from a local electrical goods
dealer is defective. Write a letter to the dealer requesting immediate replacement.
Read the following passage carefully and answer the questions below- 5%2=10

The much-anticipated launch of Bangladesh’s first ever satellite, Bangabandhu-1, ushers in a new era
in Bangladesh’s developments. An event such as this is unprecedented in the history of Bangladesh,
and truly speaks of the advancements our nation has made since its birth 50 years ago. Not only does it

highlight Bangladesh’s prominence on the global stage, it will also have massive benefits for our
country in the long run. As it stands, Bangladesh spends $ 14 million annually to rent satellite
connectivity from foreign service providers. Bangabandhu-1 will save this huge cost. Additionally, it
will serve as an important source of income for Bangladesh, as we too will now be able to rent satelfite
services out to other countries. It will also open up a whole new world of possibilities, allowing us to
collect various streams of data for research purposes and improving internet services. It is hoped that
the satellite will help reduce emergency response times durinE natural disasters as it would be able to
provide uninterrupted telecommunications services. www.prebd.com :

Question:
(a) What is ‘Bangabandhu-1"?
(b) What does the launch of ‘Bangabandhu-1" speak of?
(c) How much money do we spend each year for renting satellite bandwidth from foreign operators?
(d) How is ‘Bangabandhu-1' expected to serve as an important source of income for ougrn coﬂeﬁr:'y?
(¢) How can ‘Bangabandhu-1° play an important role during emergency situation?
4. Fillin the blanks with appropriate prepositions: " 5x1=5
(a) Ushoshe takes—her mother. (b) Smoking tells—health,  (c They agree — what you sa
(d) The boy has been absent —Monday. (€) }"’“ had to cal|—5 doctor. o ? ¥
3 ﬂm sentences with the following phrasesﬁdlﬂlq:h('ﬂy five): 5x1=5
a) figure out t keep in touch with (d :
) u;::; o v(:l)s. counton (c) keep i hang out () come to light (f) well off
S Correct any five of the following sentences: _ 5x1=5
(8) 1 want to know what is the matter.  (b) Today IS very hot.
{£) My father insisted me to go abroad. &) The boy is a fooish,
(¢) Your Wﬂt:ch is better than her. W) It waS 2 most unique work.
JB) The quality of mangoes are not good.
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AT, ZACD = «£CAB + £ABC
q, LACB + £ACD = £CAB +
LABC + £ACB

» 180° = £CAB + 2£ABC + £ACB
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£ABC « tan 60° =

~ AB =10+/3 31, 17.13
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